Name:

Sentence Match Quiz for Category: present_tener_1

Mark the sentence that matches each item below.

1) Este coche tiene 4 cilindros.
- A: This car has 4 cylinders.
- B: I am 21 years old. How old are you?

- C: These contracts aim to integrate unqualified young people professionally and socially.

- D: I don't have any idea.

2) No tengo un lapiz.

- A: She has curly hair.

- B: I don't have a pencil.
- C: We have flowers.

- D: I have

3) Ella tiene dieciséis afios.

- Al | have

- B: She is sixteen years old.

- C: 1 am 21 years old. How old are you?

- D: Does anybody in your family have diabetes?

4) ¢Tiene diabetes alguien en su familia?

- A: | don't have a pencil.

- B: Does anybody in your family have diabetes?
- C: lam 21 years old. How old are you?

- D: I have three children.

5) Estos contratos tienen como objetivo la insercidon profesional y social de los jévenes sin formacion.

- A: These contracts aim to integrate unqualified young people professionally and socially.

- B: They have lots of toys. (females)
- C: lam 21 years old. How old are you?
- D: Do you have children?

6) Yo tengo veintitn afios. ¢ Cuantos afios tienes tu?

- A: She is sixteen years old.
- B: This car has 4 cylinders.

- C: The airport parking has a capacity for 500 vehicles.

- D: I am 21 years old. How old are you?

7) No tengo ni idea.

- A: This car has 4 cylinders.

- B: I don't have any idea.

- C: The school has 100 students.
- D: We have stiff arms.

8) El nifio tiene treinta centavos.
- A: This car has 4 cylinders.

- B: The child has thirty cents.

- C: 1 don't have a pencil.

- D: She is sixteen years old.

9) Tiene treinta y un afos.
- A: She is 31 years old.

- B: I don't have a pencil.

- C: This car has 4 cylinders.
- D: Do you have children?
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(continued) Sentence Match Quiz for Category: present_tener_1

Mark the sentence that matches each item below.

10) Vosotros tenéis mucha tarea.

- A: The child has thirty cents.

- B: This car has 4 cylinders.

- C: You guys have lots of homework.
- D: 1 don't have a pencil.

11) El parking del aeropuerto tiene capacidad para 500 vehiculos.

- A: Does anybody in your family have diabetes?

- B: The airport parking has a capacity for 500 vehicles.
- C: 1 am 21 years old. How old are you?

- D: This car has 4 cylinders.

12) La escuelatiene cien estudiantes.

- A: The school has 100 students.

- B: Does anybody in your family have diabetes?
- C: The child has thirty cents.

- D: These contracts aim to integrate unqualified young people professionally and socially.

13) ¢ Tienes nifos?

- A: Do you have children?

- B: The professor has an apartment downtown.
- C: This car has 4 cylinders.

- D: The child has thirty cents.

14) No tengo licencia.

- A: I don't have a license.

- B: I have three children.

- C: lam 21 years old. How old are you?
- D: She is 31 years old.

15) Una minivan, porgue tenemos dos nifios.
- A: A minivan, because we have 2 kids.

- B: You guys have lots of homework.

- C: Do you have children?

- D: This car has 4 cylinders.

16) Tienen muy poco interés.

- A: We have stiff arms.

- B: They have very little interest.

- C: A minivan, because we have 2 kids.
- D: 1 don't have any idea.

17) Tenemos los brazos molidos.

- A: We have stiff arms.

- B: We have flowers.

- C: How long have you had the pain?
- D: 1 don't have a pencil.

18) yo tengo
- A: | have
- B: She is sixteen years old.

- C: The airport parking has a capacity for 500 vehicles.

- D: How long have you had the pain?

Copyright © 2024 - 123TeachMe.com

Date:

c6ed5

2



Name:

(continued) Sentence Match Quiz for Category: present_tener_1

Mark the sentence that matches each item below.

19) ¢Hace cuéanto tiempo tiene el dolor?
- A: How long have you had the pain?

- B: We have a fugitive on the loose.

- C: This car has 4 cylinders.

- D: She is sixteen years old.

20) El profesor tiene un apartamento en el centro.
- A: The child has thirty cents.

- B: The professor has an apartment downtown.

- C: This car has 4 cylinders.

- D: They have very little interest.

21) Nosotros tenemos flores.

- A | have three children.

- B: Do you have children?

- C: We have flowers.

- D: Does anybody in your family have diabetes?

22) Tenéis que cenar en mi casa sin falta.

- A: I don't have a license.

- B: You all have to have dinner at my house with no excuses.
- C: A minivan, because we have 2 kids.

- D: Does anybody in your family have diabetes?

23) Yo tengo tres hijos.

- A: You have the flu. (formal)
- B: I have three children.

- C: Do you have children?

- D: This car has 4 cylinders.

24) Ellatiene el pelo rizado.
- A: She is sixteen years old.
- B: I have

- C: She has curly hair.

- D: The child has thirty cents.

25) Tiene el derecho a hablar con un abogado...
- A: You have the right to speak to an attorney...

- B: She is sixteen years old.

- C: The child has thirty cents.

- D: This car has 4 cylinders.

26) Usted tiene gripe.

- A: Does anybody in your family have diabetes?
- B: You have the flu. (formal)

- C: The child has thirty cents.

- D: They have very little interest.

27) Tiene frio.

- A: Does anybody in your family have diabetes?
- B: He/she is cold.

- C: We have stiff arms.

- D: They have very little interest.
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(continued) Sentence Match Quiz for Category: present_tener_1
Mark the sentence that matches each item below.

28) Ellas tienen muchos juguetes.

- A: You guys have lots of homework.

- B: We have stiff arms.

- C: They have lots of toys. (females)

- D: The professor has an apartment downtown.

29) Tenemos a un fugitivo que anda suelto.
- A: I am 21 years old. How old are you?

- B: The school has 100 students.

- C: How long have you had the pain?

- D: We have a fugitive on the loose.

30) Usted tiene agua en los pulmones.
- A: You have water in the lungs.

- B: This car has a manual transmission.
- C: You guys have lots of homework.

- D: This car has 4 cylinders.

31) Este carro tiene transmisién manual.

- A: The professor has an apartment downtown.
- B: I don't have a pencil.

- C: This car has a manual transmission.

- D: Do you have children?

32) Los alumnos tienen mucha tarea.

- A: The students have a lot of homework.
- B: I don't have a pencil.

- C: 1 don't have a license.

- D: This car has 4 cylinders.
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Answer Key for Worksheet c6ed5

Sentence Match Quiz starting on page 1
1=A,2=B,3=B,4=B,5=A,6=D,7=B,8=B,9=A,10=C,11=B,12=A,13=A,14=A,15=A,16=B,
17=A,18=A,19=A,20=B,21=C,22=B,23=B,24=C,25=A,26=B,27=B,28=C,29=D,30=A,31=
C,32=A
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